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Hydraulic

Basic Level
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What is hydraulics?

Hydraulics falls into the category of hydromechanics. This can
be subdivided into hvdradynamics and hydrostatics
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Force = mass x acceleration
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Force = pressure x area
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HOW HYDRAULIC SYSTEM WORKS (1)
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Basic Hydraulic System

HOW HYDRAULIC SYSTEM WORKS (2)
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Hydraulic System wilh Reservoir and Check Valves Added
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Machine tools Moulding machines

Building machinery Transport equipment
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Commercial vehicles

:-mill plants
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Aim: To find the pump characteristic

Sequence::

1. Construct the circuit

2. Measure the pump delivery at the system pressures shown

in the table.
3. Enter the values in the graph and join them.
The resulting line is the pump characteristic.

Circuit diagram: Table:
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Aim: To check the following statement: Resistance in a pipe is
dependent on diameler, assuming that flow volume, viscosity,
length and pipe smoothness remain constant.

Sequence:
1. Construct control

2. Measure the pressure gradient required to force the full
pump flow volume through each of the three meanders.

Circuit diagram:;
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Problem:

The hopper of a dump trunk is to be operated using a single-
acting cylinder.

1. Draw the circuit diagram.
2. Construct the circuit on the trainer

 Positional sketch:

. , ~ i igel g-fuwd
FESTO by il 58 H 511

19




Problem:
A foundry ladle is 1o be operated using a double-acting
cylinder.

1. Draw the circuit diagram.

2. Construct the circuit on the trainer

Positional sketch:
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Control of double-acting cylinder
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Exercise: Scissor-tong table

A hydraulic cylinder is used to raise and lower a scissor-tong table. It must be

possible to hold the table in any desired position for long periods.

Procedure:

- Draw circuit diagram.

- Assemble control.

Positional sketch:
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